Tableaux des Puissances de Dix (C)

Multipliez le nombre de la rangée par celui de la colonne.

X

0,07 0,7 7 000 70 000

NN

14

62

23

61

70 700 0,0007 7 000

65

29

49

93

7 000 0,07 0,0007 70

73

33

60

99

0,5 0,0005 500 0,005

86

37

67

16
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Tableaux des Puissances de Dix (C) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,07 0,7 7 000 70 000
4 0,28 2,8 28 000 280 000
14 0,98 9,8 98 000 980 000
62 4,34 43,4 434 000 4 340 000
23 1,61 16,1 161 000 1610000
61 4,27 42,7 427000 4270000
X 70 700 0,0007 7 000
65 4 550 45 500 0,0455 455 000
29 2030 20 300 0,0203 203 000
49 3430 34 300 0,0343 343 000
93 6510 65 100 0,0651 651 000
6 420 4200 0,0042 42 000
X 7 000 0,07 0,0007 70

73 511 000 511 0,0511 5110

1 7000 0,07 0,0007 70

33 231000 2,31 0,0231 2310
60 420000 4,2 0,042 4 200
99 693 000 6,93 0,0693 6 930
X 0,5 0,0005 500 0,005
86 43 0,043 43 000 0,43
37 18,5 0,0185 18 500 0,185
67 33,5 0,0335 33500 0,335

4 2 0,002 2000 0,02
16 8 0,008 8 000 0,08
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